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*IEALFE FEMPEH & (kg/F, A4 U HHiImg-TEQ/4)

m 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
W'E S B ERRED st gt | s o | . . e R N —XBE | PEEBE Az
o W'E 4 \ . - " v, | TRNEBATS | DeAl B ERAE | AT | 2D _ FeERREED | PoE | iz we | AVVE | X AAF | IRER | TR e &t
w5 Doy | R RUR | BAEAL R T e | s | vov | o | HER SRR B e | e |90 | oo | R | SR | s | e
I [Tsh DAL AT 16 10 L4 16 123 Loy
2 | T7UNLTIR 0.69 0.13 0.82
3 | 7VUNEETF L 1.5 266 0.015 268
4 | TIUNER KR O DKIEME 7.9 0.051 8.0
5 |72UNER2— (DAFNLTI)) =F )L 266 266
6 |TZULER2—kRaXl oF L 0.073 0.0006 0.074
7T | TVUNER IV~ — T F )L 18 0.10 18
8 | TVUNEEAT IV 0.029 266 0.003 266
9 |[7/Va=RJL 0.054 114 0.020 114
10 |727uL Ay 73 369 2,514 38 648 104] 231 3,977
11 |7 A 0.062 0.062
12 |[7E&MJLTER 0.005 354, 2,027 13,243 215 2,715 6,947) 308 224 0.005 60 26,093
13 |7 k=KL 109 174 95 378
14 | 7E®b v T JERY
15 |[7&F77
16 2,2 —7YEA[LYTFu=RL 0.0004 0.0006 0.001
17 [ANb—T=
18 | 7=V 0.11 0.031 0.14
19 [1—73/—9, 10—T7 > 7%/
20 |2—T3)xH)—)L 100 82,004 16,061 98,164
21 |Zuyx>ry
22 | 747 m=)L 1,735 87 1,822
23 |\NN\T—=T73I)T7x/)—)V
24 |\ AZ—T3I)T7x/)—)L
25 | ART v 5,850 5,850
26 |3—T73I/—1—7a~
27 | AZIkmr
28 |7UNLT La— L
20 [1—T7ULAFL—2 3—TRFL T3

BT VXN ARP U AR R R ED
30 | (T AXNIEDORBE D100 H14FT 39 1,593 197 107,059 12,119 121,006

DOYLO K OFDIREMIZIES, )
31 | 7o FEL K OZFDILEY) 9.6 108 2.9 120
32 | TR
33 |

3—A/TTFIAT V=3, 5, 5—RIATF
34 LS Ta~F V=AYV T F—k 0.68 0.68
35 (AT F )T ILTER
36 | AT 3,211 3,211
37 lEx7=/—LA 0.81 0.81

2,2 —{(7ar VT v R[(2, 6—7
38 BE—4, 1 —Tx=L)FF] 1A

J—)
39 |7 IKA
40 B 7xF¥—h 60 60
41 |[Znrrs=1 595 595
42 12— AV T H v 0.11 0.11
43 A IHE
44 | A B OFOLE Y 0.0002 0.025 0.026
45 | =X FF—)b
46 ¥V oaky =T 70 70
AT | T HIRA 1,255 1,255
48 |EPN
49 | XU T A RAFY 1,045 1,045
50 |FEYFR—hk
51 |2—=F )L~FH Uk 20 0.30 20
52 |TI7=JinT 40 40
53 |mF P 51,292 14,286 206 40,673 712 40,791 2,447 415 8,678 77 53 8.4 159,638
54 |HRAFTP—h 4,901 4,901
55 | =FL A3
56 |T=FL L AFIR 568 201 770
57 |=FL o FVa— e/ oF )Lo—F )L 664 27 0.17 692
58 | =F LY Va— )L ) AF )L —T )L 41 0.27 41
59 |[mFLLUTI 0.021 0.002 0.023
60 |=FL T IUEERR 1.5 40 78 120
61 |~rx7 950 950
62 |~wrats 18,780 18,780
63 |77 aIR 8,296 8,296
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64 |Th7xL TR 2,928 131 3,059
65 |TEZnobeRyy 0.073 0.073
66 |1, 2—TARFUT X
67 |2, 3—TRFL—1—7 s )— L
68 k7oL 0.041 0.041

2, 3—TRF o N =Tz=)Lm—T
69 V%
70 T ATF U Bla%t BERRE N Yo~ A7 a1 41

F L B1bZ BFRE DRSS — —
71 | MEAREE 8k 0.35 0.35
79 Wb T 7402 (IRFEED10/H13FETD

HDO K OZEDIREMIZIES, )
73 |[1—FA2H)—) 0.16 0.0002 0.16
4 |(RTG—=FIFNTx/)—)L 0.019 0.019
75 | IRV LK OZEDOILEY) 0.026 0.050 11 0.58 12
6 (AT ar— a5 0.28 0.82 1.1
7 I sy TS IR
78 |2, 4—FT L /—)L
79 12,6—FLL/—)L
80 |F L 70,100 16,582 808 643 83,360/ 108,815 3,675 162,867 6,850 1,701] 23,234| 308 132 36 44 479,155
81 | /Uv 0.0001 0.0001
82 R K OO KIEMHALE Y 16 15 0.34 31
83 AV 382 830 0.99 1,212
84 |(J7VAFY—L
85 |ZIHILT LT ER 16 0.26 17
86 |1 —)L 0.007 132 0.002 132
87 |[/nb kO Az usfbEW 2.7 0.087 2.2 43 1.8 50
88 |NflizabEY 0.46 0.46
89 |[mur=Jr
9 |ThTVV 788 788
91 [>T FTr 172 172
92 ML 7zl ETIR 537 537
93 | ANT7Zm—)1 4,550 4,550
94 [Hifbe =1 2.6 2.6
95 |ZITVF A 1,457 1,457
96 |V 7=/} —)L 41 41
97 |1—7mm—2— (IaaAF ) B
98 |Jouofiile
99 |Juoofifr—F L
100 |ZVFF7/m—)L 1,220 1,220
101 |77/ —)L 1,147 1,147
102 |[1—7un—2, 4—=fa~_ B
103 |HCFC—142b 3,996 3,996
104 |HCFC—22 26,437 26,437
105 |HCFC—124
106 |HCFC—133
107 |CFC—13
108 [ A=r oy 1,532 1,532
109 A/ bh—ZurMlLxT
110 (/N7 —ZuuhlxT
111 |2—/mn—4—=pa7=U
112 [2—Z7mp=fa ¥
113 >~ 52 52
114 (A H )77 2.8 2.8
115 | 7= IR 406 406
116 |[~FF T/ IR
117 |77 a3y —v 629 6.9 636
118 /a7 X=)1 20 20
119 |7 7o)y —)u 198 198
120 |ANVh—7uaa 7.z /) —)L
121 |(/\g—JwmuJ=x/—)L
122 |2—7muubr 4 ik
123 |7
124 |731my
125 [7aa~ P 104 1,127 29 3.6 1,263
126 |CFC—115
127 |Z7aakiv s 199 430 258 3.7 892
128 |HfbAT v
129 [A—7/va—3—AF )T =x/)—)L
130 |MCP
131 |3—7/ar—2—AF )L —1—7pa~X

1-2




MPIEIDARDPEN T BB RN OW T, A FI2 R DRI AT REL 7R 5T Z & h 3 FI T AR I 2 I TSR ORI PR BHEG 7 — X O R & AT o 72 (RO & FTIIT P& L72) o
idh 246 PEHIER] S Gb 2 BRI OPEH BHEFTRE R (G An24E i S IR [1. S Gl B o S 687 OO 4 2 HI0 DL ~23. i 6 B dEWy e ) il 5t

*IEALFE R HEH & (kg/4F, X A4 FE13mg-TEQ/4E)
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132 |2V R OFOVEY) 6.0 0.12 101 0.21 107
133 | L2 YE TR T T LT 668 0.014 668

7 —h
134 |Hifer =L 175 216 4.2 395
135 :f?ll\/‘/7°93~/1/56/7<7’“/l/:£-—*7/l/7”z

P
136 [V UF /LT I)ILTER
137 |7 ) 3K 58 58
138 |Z7us Avh
139 |FFaAR) 12 12
140 |7=> 7R 40 3.2 43
141 | EXH=,1 540 540
142 |2, 44— 73 )7 =J—)L
143 4,4 —V T3V 7= )V =—T )L

I% > N AN H: NS S R YE

144 @%TT/MHW@EL%&U/T/&L}R% 1 146 158
145 |2— (= F)NT3)) X )—)L
146 |[EUIRAATF L
147 |FAUHLVT 66 66
148 |17 = Aha— L 223 223
149 | LR 0.15 0.15
150 |1, 4— A% 11 5.1 16
151 |1, 3—AFVF
152 | HBoT 2,547 2,547
153 | T hF AR 568 568
154 |2 7a~"F L7
155 IN— (S Z7a~F )LFF) 7XZ)LAIR 0.094 3.0 3.1
156 |/maary=1J)
157 |1, 2—/anxiy 16 0.72 17
158 ¥Efbe=U7 >
159 |3 Z2—1, 2—Y7uuxFL
160 |3 3 —ranm—4,4 —7I)T =

JURAHR
161 |CFC—12 6,414 6,414
162 |7 ae’ ¥R 860 860
163 |CFC—114
164 |HCFC—123 874 874
165 |2, 4— 7kl
166 |1, 2— Y/ —4—=—faX P
167 |1, 4—>/mn—2—=ka~X ¥
168 (A7 a4 1,040 1,040
169 |y 0.42 1,400 1,400
170 |7 h7aty—nv
171 |Fuatr’a)> —)L 68 91 159
172 | AF YT IaARy 364 364
173 |l oay
174 V=au 809 809
175 |2, 4—D 18,275 18,275
176 |HCFC—141b 11,050 11,050
177 |HCFC—21
178 |1, 2— /Xy 5.6 5.6
179 |D—D 1,229,826 1,229,826
180 |3, 3’ —YZun UV
181 |[v7mp~X P 0.63 1,069 78,272 0.028 14 79,356
182 B/ ¥ 7z 6.0 6.0
183 [V —F 3,935 3,935
184 |7/ma~_X=)L 209 209
185 |HCFC—225 60 60
186 |[HEfbAT L 11,433 28 11,461
187 [F T /v 126 126
188 IN, N—Iv7a~nFi L7
189 |\ N—I27aA~F i )L —2—_ ) F7

SV ZVT =T IR
190 [y xyxy 0.006 0.006
191 (Y7 aFAT 276 276
192 | =T 47 = RA
193 |=F)LFF AR
194 Y
195 |[FuFAHA 1,386 1,386
196 [ AFHTF A 2,320 2,320
197 |=5/ 598 598
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198 | VAT —h 15 15
199 |CIZ /LA L ZE 260
200 Y=k
201 |2, 4—r =k 7= /—)L
202 [PCE =P
203 [T z= LTI 0.061 0.061
204 |7 =)L =—F )L
205 |1, 3—V T =W T =
206 |HIVIRA)LT 7 367 367
201 |55 % ST TN ATY 1.1 173 20 0.051 194
208 |2, 44— —F— ¥ —TF)LTx/)—)L
209 |7 uEranAR 452 34 487
210 |2, 2—7uE—2—L7 )7 BRTIR
211 |1 —2402
212 | 77—k 1,300 1,300
213 [N, N—AF LT R IR 42 56 0.53 99
214 |2, A—AF LT =V
215 |2, 6—AF LT =V
216 [N, N—IAF LT = 0.008 0.008
217 | FATITT A 150 150
218 [PAF LTI 0.62 0.005 0.63
219 |[AF I AL T 4R
220 |AF IV FF BNV ERO KIETERE
221 | R T7FHNT 1,475 1,475
222 | 7= ) FFH)NT
223 IN, N=—AF)LRTF I LTI
224 g’F\N SATIRT LTI =N=A%F 0.31 17,783 130 17,912
225 |RJZ7m)LaRy 15 15
226 |1, 1=V AFILERTV
227 [/3Fa—)h 5,880 5,880
998 3, 3’f°})<%/lft“71:/1/—4, 4’ =

IN=AV T F—h
229 | T AT 7R —hAF L 4,402 4,402
930 N—(1, 3—9%%/1/7%/1/)—N’—7::

=T =T =L T I
231 |A/Vh—=R)vv
232 IN, N—AF )LAHR/LLT IR 10,185 10,185
233 |[Z7xrhT—h 1,004 1,004
234 | K3 0.11 0.004 0.12
235 | R FEED KM 0.0001 0.0001
236 | TAAFL =)L 60 60
237 |JKER K N ZDILEY 1.0 23 24
238 |KFT N T ==L
239 |HHEALEY) 0.64 0.64
240 |[AF L 1,365 0.18 63 483 8,081 1,317 457 4,101 15,868
941 2— ZJVIRAF YT H U —1 — AF LT A

TV A
242 | LU R OEDILEY 0.006 0.003 0.010
243 | XA HR 545 545
244 | F Ay 126,608 126,608
245 | T A RFE 0.0001 0.001 0.001
246 |F A7 /)—)L
247 |EZ7aRA
248 | ZAT V) 8,834 1.6 8,835
249 |7 LEVRA 17,078 17,078
250 | /F¥Y T4 55 55
251 |Zxz=haF 4 10,221 414 10,634
252 |7 TF A 163 163
253 | a7« JiRA
254 (AT T TRA 17 17
255 | AT uEY T r=)L—F )L 0.38 0.38
256 | T MR 10 10
257 | T H/)—)v 10,577| 0.001 10,577
258 [ ~NFYAF LTI 0.078 330 0.52 331
259 [ANT 4T A 0.40 0.40
260 |ZonXn— L 4,824 4,824
261 |7V IAK 1,910 1,910
262 [T /ooxTFL 1,399 11 6.3 1,416
263 [CFC—112
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2.3,5, 6—Thr77am— 857 —~_%
264 |7
265 |7 RTERaATF )LEE K 7 X)L R
266 |77 /LK) 487 487
267 |FATINT 79 79
268 | T UL 0.20 446 446
269 |V 7 4h—IL
270 |TL 7 HLIR 0.0002 0.0001 0.0003
271 |TL T HIVERD ATF )L
272 |SRKIRVEE (B AR, ) 1.4 408 2.2 14 13 439
273 | /L= I)L—RT LT )Lba—)L 0.85 15 0.00008 16
274 | =¥V —RTho T4 —v
275 |RT 2 /VHREE R D 2 11 333 0.18 32,340 4,226 36,910
276 |ThomFL LI 0.58 6.9 7.5
277 [N =F L7 48 107 155
278 |[NJ=FL TR 0.97 12 13
279 |1, 1, 1— Mooz
280 |1, 1, 2—K)Zapn=xXy
281 |FNJZom—FL o 1,295 2.6 8.9 1,306
282 N7 onfklR 0.63 5.1 5.7
283 12,4, 6—hJ7uu—1, 3, 5—RT7Iv
284 |[CFC—113
285 /oot sy 478,112 478,112
286 k7ot L 487 487
287 |2, 4, 6—KN)Juuerx/—)b
288 |CFC—11 10,893 10,893
289 |1, 2, 3—R)rmar o,
290 |NZuaa ¥

1, 3, 5—KJA(2, 3—TRF> S ut’ /L)
291 |—1, 3, 5—K’J7¥—2, 4, 6(1H, 3H,

5H) —hJAv
292 (N7 F LTI
293 |[FUZ L7 1,548 1,548
294 12,4, 6—NT7oE7=/—)L
295 13, 5, 5—FJAF L—1—~FH /—/L
296 |1, 2, 4—RIAF LB 13,642 437] 1,318 548 24,721 75 73 158 40,971
297 |1, 3, 5—hIAF LB 5,532 231 361 13,281 752 13,836 892 447 2,529 37 15 37,914
298 |NIL AT T F—h 1.9 1.9
299 |fLAT 0.026 0.018 0.044
300 |[bLoxy 115,989 22 3.2 6,476 66,726 6,851 707]  290,935] 10,204 2,271 29,900 231| 115 237 2.0 530,669
301 [ML o7
302 |FTHL 1,041 660/ 0.062 935 353 29 3,018
303 |1, 5—FTHLUIAN =AY T F—h
304 |43 0.029 0.029
305 |#nb e 3.5 4.4 38 10 56
306 | T ZUNEEAFH AT L 0.063 0.063
307 | M vER by va=0 L
308 | =>4 L 0.001 2.0 2.0
309 |=v 7 ULEY 1.1 350 45 4.9 401
310 |=hJo =HERg
311 A Nb—=baT7=/—)L
312 (ANb—=btarT=Ur
313 |=haZUky
314 [N —=ppZuop~ B
315 [FA/Nbh—=bahl T
316 |=ha B 0.34 0.34
317 |[=ha A% 0.072 0.072
318 | _wifbirE 0.72 0.10 0.82
319 | v~V — =)L )La—)
320 | /=T = )—)L 0.008 0.62 0.63
321 [INFUOMEEW 0.040 24 0.24 24
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*IEALFE R HEH & (kg/4F, X A4 FE13mg-TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
5 —[N,N—t 2 2—T%kF /LA4FL=
F)TI)]—2 —(2—TaE—4, 6—
22 2 hrT == TY) —47 = AR T RN o1 i =
=UR
323 [ ARV
g4 |1 3—EA[(2, 3—=ARFL T HE/L) AF
DR P Vg
325 | AF T8 545 545
326 |yadzFU
327 |1, 2— R (2—maurdx=)L)eRII
328 [T 0.048 0.91 0.96
329 [ARUA— 3 RA—] 2,144 2,144
E2(1—AF )N —1—Tz=)LF)L) =~
330 s 0.30 0.30 0.60
331 | RYHRA 600 600
332 |ftFE M ZFDO AL EY 0.00003 0.000009 4.3 0.58 4.9
333 |[ERTV 0.73 0.73
334 |[A—bRaX % EFBAT IV
335 IN—(4d—tRa%s7-=)L)7Er7IN
336 |ERa¥x /v 0.66 1.9 2.6
337 [A—v = —1—7a~Ft
338 12— E =LY
339 IN—bE=/L—2—t"rmlRr~
340 [E7xz=/L
341 [T
342 [y 0.76 1.3 2.1
343 [ HTa—v
344 | T xz= VAT
345 |7 z=)LERTV
346 |2—Tx2=)L Tz )—)L 439 439
347 IN— 7=/l <L AR
348 |[Tx=L U7
349 | 7> /)—)L 23 0.079 45 68
350 |~V ARY L 192 283 475
351 |1, 3— 7 X =T 260 432 8,638 304 676 7,105| 308 305 18,029
352 |ZHNLEE T UL
353 | ZXNVERY —F )L
354 |ZHIVERY — V<)L —T F )L 4.5 11 572 588
355 |7 ZIVFEE A (2— =F )L~FI L) 86 7.9 94
356 | ZXIEE )<L — T F =D)L 2.8 2.8
357 |7 a7 2,592 2,592
358 | T T T IVR 325 325
359 //1/7/11—79"/1/—2, 3—TARFT T
JL—7 )b
360 |~ /3L 2,580 2,580
361 | aky ST FL 949 949
362 [T T From 1,600 1,600
363 [ AXY TV 240 240
364 |7z Ead A—h 336 336
365 |BHA
366 |X—3 v —TF L= ~LFFIRN
367 [ANb—tHH) =T FN T /)—)L
368 [4—F— ¥V —TFFNTx/)—)L 0.094 0.076 0.17
369 |7 /LR 87 87
370 |[BUH R 268 268
371 |77 7 ETR 10 10
N—(Z—x)—TF)N) —2—_VF7T
872 = VAN T =T IR 0.53 0.53
2—H—x =T F ) —5—AF )L T =
373 S
374 | 5o KSR M O DRSS 225 1,727 1,952
375 |[2—T T F—)u
376 |7 X /u—)L 412 412
377 |7
378 | ur’Rs 420 420
379 |2—mar’y—1—4—/L
380 [Nz —1211
381 |FaE/ma A 401 88 489
382 [~z —1301 400 400
383 |7 m~wi L 282 282
384 [1—7mEr /8 1,806 1,806
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e LN FERPE & (kg/4E, ZAA % HiiImg-TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

385 |2— 7 mE Sl
386 | RALATF IV 21,328 21,328
387 Bt 7= T HAARX
388 | RALT 7
389 ?ﬂWT/M‘W?’W/:E“ﬁA_mU 0.68 543 118 662
390 [ ~NFHYAFL L UTIV
391 [ ~FHAFL L =U4Y T F—Fh 0.34 0.34
392 | /< — 28,639 1,142 3,161 59,328 435 0.48 17 92,722
393 | REFFTh—)L
394 | XUUT LK OZDILEY
395 |~ULAFY T HREED KIETER 1.1 1.1
396 |PFOS
397 | XUV =R)ZalR
398 |HEfb~ v 0.010 0.010
399 [ RV AT NLFER 0.002 152 3,755 192 339 528 77 0.0003 5,043
400 |~ B 1,997 5.2 5,714 353] 61,975 3,065 2,496  14,096] 308| 322 2.8 48 90,382
401 ikq;f A= BN ARL 28 0002 0.00002
402 [ A7 F vk 3,906 3,906
403 | Ry T2 0.003 0.004 0.007
404 |~ Houadx /) —)b
405 [1FHFRILEY) 47 12 64 87 210
406 |PCB

R (FFL=FLy) =T /LF/LT—TF)L
407 | (T NFNVIEDRFZEN120:H15FTDH 205 5,864 36 361,988 5,700 373,792

Q&@%@iﬁé\%azﬁ%o )
408 i”_(ifi/I%V/)_jﬁﬁ’WI"” 15| 1530 4.4 611 8.3 2,169

R (FFTmFLr) =RTFINT—T /b
409 BT A7 LS 1 3.4 13,833 64,524 8,865 87,226
410 iifﬁwi%y/)_/””l%”i 195/ 8314 75 1,141 60 9.714
411 [V LT ILFER 9,465 194 1,232 531 29,863 652] 12,385] 20,915 925| 154 10,838 415 17 87,585
412 = H U B OFOILEWY 1.3 0.17 3.2 3.8 8.5
413 KT VR 1.1 0.0008 1.1
414 K<L A8 0.012 0.00001 0.012
415 [ AZJV)VIE 20 1.0 21
416 | ATV VER2 — TF )L ~F )L
AT [ AFTVVER2, 3— TRF 7 at’ )L
418 | AZTINR2— (VAF VT ) =F )L 0.010 0.012 0.022
419 [ AR TUNVER I V<)V —T F )L
420 | AZTUNVEEAT )V 292 131 6.3 430
421 |[A—AF VT oA FvH L —2—F
422 |72 1,843 1,843
423 [ AFILT I 0.0003 0.001 0.002
424 [ AF NV =AIFFT F—k 3,940 3,940
495 (A TahvT
426 | HIVRTF
427 IS 8,105 229 8,334
428 |7 )7 HINT 1,006 531 1,537
429 [N ARLTEL AT L 133 133
430 | A RE¥YHILT 20 20
431 |7V ¥ Apmb 2,683 2,683
432 |[7IFT X 100 100
433 |1 — A 1,750 1,750
434 A F 9L 65 65
435 [EUI X9 IAF )L 2.8 2.8
436 | TV T 7 —AF )L AFL
437 |3—AF NFTF T asF—)L
438 [ AFLFTHL 3.4 330/  0.007 0.0004 333
439 |3— AT BV

1—AF)—1—Tz=)L=F )L =R~
40 | Sk 0.025 0.33 0.36
441 2—(1—AFV7ub’)N) —4, 6—r=hu

Jx/)—)b
442 | A7 a=)v 75 75
443 [ AL 1,270 1,270
444 |N)7aXx L AhpbE 62 62
445 (VIR LAT IV 638 638
446 |4, 4 —AFL VT =V
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MPIEIDARDPEN T BB RN OW T, A FI2 R DRI AT REL 7R 5T Z & h 3 FI T AR I 2 I TSR ORI PR BHEG 7 — X O R & AT o 72 (RO & FTIIT P& L72) o
idh#46  HEHIER] S AL =W BRI OPEH BHEFHRE R (G Fn2AE R BB VL IS ) [1. S R A Lo S5 368 DO 20 LT ~23 . 2 SEBE T e HIfi i

*IEALFE FEMPEH & (kg/F, A4 U HHiImg-TEQ/4)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
447 AFLUERA(4, 1—vra~Fily) =
AT F—h
pg T EAM, =T mml) =TV 37 0.045 37
7 F—h

449 |7 = AT 4T 7 I
450 \RUTTF T 180 180
451 |2—ARFY —5—AF LT =Y
452 [2—ANVA TS F T —)L 0.76 0.76
453 RV TV R OFDILEY 0.91 93 0.22 94
454 12— (BRI T )XY FTV —)L 0.011 0.011
455 |F/LRY 4.4 42 47
456 |WAALT VI=T A 333 333
457 |7 a)LiRA 1,611 1,611
458 |WAMERNA (2—F )L~F L)
459 |WAFERN A (2— Z7araxF /L)
460 [VAERNIRI L 0.46 0.46
461 |WABEN) 7 ==L 4.2 18 22
462 |WABERRN— /)L~ )L— T F )L 0.00009 0.00009

a it 329,607| 2,125,412] 8,917/ 9,600 204,676/ 111,046/ 668,033 79,208 23,968/ 7,890/ 721,730! 26,176/ 25,060/ 118,137| 2,774| 1,252] 1,284 60,125 545 60,364 2,388 578| 4,588,224
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